
!= cf=j @)&^÷)&&                               -j6]h ?= xhf/df_

2. ah]6 pkzLif{s g+= #)&)!@) -;+3Lo ;/sf/_                                           
!)= jflif{s ah]6 ?= @^%=)

#= dGqfnosf] gfdM   pBf]u, ko{6g, jg tyf jftfj/0f  -s_ cfGt/LsM !_ g]kfn ;/sf/

      @_ hg;xeflutf

%= sfo{qmd÷ cfof]hgfsf] gfdM jftfj/0f ljefu  -v_ a}b]lzsM !_ cg'bfgM

^= :yfgM -s_ lhNnfM DofUbL  !!= nIosf] t'ngfdf vr{ k||ltzt M  %^=^) k|ltzt 

&= cfof]hgf z'? ePsf] ldltM @)&^.)$.)! *= cfof]hgf k"/f x'g] ldltM @)&&.)#.#!

(= cfof]hgf k|d'vsf] gfdM xl/ZrGb| ;fksf]6f / ;Gtf]if vgfn

kl/df0f ef/ jh]6 kl/df0f efl/t ef}lts 
vr{ 

ah]6

cf_ rfn' vr{ cGtu{tsf sfo{qmdx?

2.7.21.35 ljZj jftfj/)f lbj; 22522 uf]^f 1 5.66 15 0 0 0 0

2.7.21.39 ;fj{hlgs :yn ufp+gu/ ;/;kmfO{ sfo{qmd 22522 k^s 1 37.74 100 0 0 0 0

2.7.21.40
kmf]x/nfO{ >f]tdfg} jlu{s/)f u/L Joj:yfkg ug{ 

hgr]tgf clea[l$ u/fpg] . 
22522 uf]^f 1 18.87 50 1 18.87 100 50

2.7.21.41
Knfli^ssf] emf]nfsf] ljsNksf] ?kdf j}sNkLs 

emf]nfsf] k|j${g tyf k|b'if)f lgoGq)f cGt/lqmof 
22522 uf]^f 1 37.74 100 1 37.74 100 100

s"n hDdf -;j} sfo{qmd /f]Ssf ;lxt_ १००. 265 56.60 50.0 150.0

s"n hDdf -/f]Ssf sfo{qmd afx]ssf]_ १००. 150 100.00 100 150.0

$=ljefu÷;+:yf M jg lgb]{zgfno

k|b]z ;/sf/

pBf]u, ko{6g, jg tyf jftfj/0f dGqfno

jg lgb]{zgfno

l8lehg jg sfof{no, DofUbL 

u08sL k|b]z, g]kfn 

l;=g+= sfo{qmd÷lqmofsnfk
vr{ 

lzif{s
OsfO{

jflif{s nIo jflif{s k|ult 

s}lkmot

jflif{s nIo tyf k|ult

lgsf; /f]Ssf



kl/df0f ef/ jh]6 kl/df0f efl/t ef}lts 
vr{ 

ah]6

l;=g+= sfo{qmd÷lqmofsnfk
vr{ 

lzif{s
OsfO{

jflif{s nIo jflif{s k|ult 

s}lkmot

tof/ ug]{ 

gljg ljZjsdf{ ;Gtf]if vgfn

;=j=c= lg= l*=j=c=

;du| ef/Lt k|ult = 56=60 k|ltzt ef/Lt k|ult = 100 k|ltzt -/f]Ssf sfo{qmd afx]s_

k|dfl)ft ug]{ 

;du| ef}lts k|ult = 50=0 k|ltzt ef}lts k|ult = 100 k|ltzt -/f]Ssf sfo{qmd afx]s_



/sd ?= xhf/df




